Lecture 3

1. The system    

                     x - 2y  + k z=0

                          2x + y - 21z=0

is

a. Consistent

b. Inconsistent

c. Both a and b above, depending on (values of ) k
d. None of the above

2. The system  

                              x       - 3 z = 2        (2)

                                    y  + z = 1

a. Has only one solution

b. Has two solutions

c. Has ten solutions

d. Has infinitely many solutions

3. x = 2, y = 1, z =0 is 

a. The only solution of the system  (2)

b. One of the solutions of the system (2)

c. Not a solution of the system (2)

d. None of the above

4. The system

    x – 2 y + z = 1

  2x + 3 y – z = 0

  3x + y          = 2

a. Is consistent

b. Is inconsistent

c. Both  a  and  b

d. Neither  a  nor  b

